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RAMAKRISHNA VI\TEKANANDA MIS SION
Admission Test - 2020

Class - II
SUB - BENGALI

Time:40 min. FullMarks:25

Name RoII No. ......................

Marks Obtained
Signature of the Examiner
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RAMAKRISHNA VTT/EKANAI\DA MISSION
Admission Test - 2020

Class - II
SUB - ENGLISH

Time:40 min. FullMarks:25

Name RollNo.

Marks Obtained
Signature of the Examiner

1. Write in words (c({ltsfr<ffi{F[r 6E"l) : 1x5=5

75- 99- 52-

2. Make sentences with the following words (ftcu-*.rtefr<cRIrq<rsFD-{E-d) : 1x5=5

sky - Beautiful-

Ball- Teaiher-

3. Write the opposite meaning of the following words (ftru-<'rqsG-{ R'me
qdreq), 1*5=5

Good- Fat -

l

Day- New- Small-

40- 13-

School-
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4. Arrange the words to from a sentence (ftcu<rmsfir+clG'H<lsi?sftF{) : 5x1=5

a) He school everyday goes to.

b) The cage is the bird in.

c) Rabi a pen writes with.

d) We hands two have.

)e good boys are.

5. Write in English Frn&rEcq{) : 5x1=5
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RAMAKRISHNA VTTEKANANDA MISSION
Admission Test - 2020

Class - II
SUB - MATIIS

Time:40 min. Full Marks :25
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